2.2 Standard Form of a Quadratic Function y = ax®: +bx +c

What is the x - coordinate ii the vertexof y =ax?+bx+c

y=alx—h)?+k




Find the vertex of f(x) = x? — 6x + 10 L= >-ed vio

a=\ b=-6 ¢=10 =9-18+)O
. = |
X= 3z
. v (30)
= 2¢0)
" s
=35 V= (x-3) F|
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Find the vertex of the quadratic y =3(x +2)2—5

= (<™ +Ux+q)~S"

= BxTEIAx+1A-5

Y= DxTHI2x+7

a=> b=ld c=7

X="B* e c G

2D F1L-D) F T

23— 24+7 (~2)‘5—3

-5



Find the vertex of the quadratic y = x% — 8x + 5

’2_2‘ Go=\ b=-3 c =5
- & g _
16,17 X="2 =55=2=9

V= (1) -8+ s (%—n\
b ->2+5
~ 1




16.y= —x~+6x +30

X

G= —|

- _.._Ce

b= & C= e
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=~ 260D =

‘4CQ?+CCQ+3®
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39
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=5
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Find the vertex ~/ -interept V= XX

J’=—x2_12x+15 y=4x2+16x—18

(0,15 (0,—;«7



Find the vertex and y-intercept of the equation y = x% — 4x + 8

\/C-\/EC-X Z —rr\{,cmept
X = —.zb_c.__ Let X=O
T Y= () 8
2D O-0 38
V= () ~4E) +8 (0,%)
U-¢+%

(2) L’)



Write the equation in standard form of the equation that passes through
the points (-2, 32), (1, 5), and (3, 17) yzaxzﬂax ro

B = a2 4 -2 4+ Ha-2bte = 32,

2= Ya-2b +c Gt bre= &
S=aliY+bed+c Go + Do v =17
S =atovtc

7= o) oI+

\7 = Gatdot<



D YHea-2vre =22,
Hza-2b+c > DX

@ a Yo rye =& (> G Fotre = &
> Aa +3oyc =17 @ Zeol - = 7
Ee>~ 6472
Ga + Boye = 17
~ () v e e = 5
éc;—"b‘o=a_l
@a Yo =12) @ Bt = 12
oo -l =84 Bl 2
) AYan +ebo = 3¢ Aree=is
0. =450 T
- -G
a=> °
Ato¥c= S
\/:EXL—(OX +< 3=6re=5>
-3y +c=5"

c=8



Write the equation in standard form of the equation that passes through
the points (-3, 47), (-1, 9), and (2, 12) Y= axTroxr

U7 Qe +c Ae-3b res 47
£ G- Fe = 4

A= aa~b + M 8a-ab =33

2= Y +2 b +< Yo d2orc = 120
(-) a6-pote= 9

Ben ~ 2= B (D 3atrp =5 = eto=|

l —_—

@“Ho ’) Y= |
Ren = o= J¥ b-5
a tTh =2

— R-b+c= g
lpa =4Ho -
a=d9 Y-(-3)1re=9
Li+y +C=4
7+C¢=1

C:.Q-.



